20235 ERLEE BN R (R ER)

20244581 B BT
— A
B $R |3 $§ 92? i gﬂﬁ% REE Tﬁ%ii% %ﬁkﬂ%@%ﬁ)
e P e L 20234F 1 20224F | 2023 4E 1 202246 &
=F| 199 | 9] 0 | 0| 195 | 195 | 100.0 | 100.0 | 93.8 | 934
&% &% [m%| 30 0] 0 0| 20 | 20 | 1000 | 957 | 967 | 917
| 220 [0 0 o | 204 | 224 | 100.0 996 | 941 @ 932
, Er| 113 |11] 0 0| 120 | 119 | 992 | 989 | 960 | 917
) BRutS
Bt s =F7| 51 | 2| 0 0| 47 | 47 | 1000 | 99 | 8.7 | 912
S ERE 164 [13] 0 0| 167 | 166 | 99.4 983 | 93.8 | 915
7| 135 | 4] 0 | 0| 128 | 128 | 1000 | 100.0 | 92.1 | 911
m  |&%| 51 | 1|0 0] 48 | 48 | 1000 | 1000 | 923 | 933
| 186 [ 5] 0 o 176 | 176 | 100.0 | 100.0 | 92.1 918
] . =7| 8 |3 0 0| 74 | 74 | 1000 | 1000 | 87.1 | 928
REW® T2z 16 (0] 0] 0] 16 | 16 | 1000 | 90 | 1000 | 923
| 98 [3]0 o 9 | 9 |100.0 990 | 8.1 @ 927
s EREt 284 | 8| 01 0 | 266 | 266 | 100.0 | 996 | 91.1 | 92 1
. BT 188 [2]0 o[ 124 | 128 | 92 (1000 [ 011 | 0.9
* ' z7| 37 | 3|0 0] 37 | 37 |1000 | 973 | 925 | 923
S EREt 170 | 5] 0 o | 161 | 160 | 99.4 993 | 91.4 | 91.3
wogss 27| 50 [ 1] 1 o] 45| 45 [1000 682 [ 860 | 6l
smEE | " [&®| 11 | 2] 2 0 6 | 6 |1000 1000 | 859 | 9.9
s EREt 121 | 3| 3 0| 104 | 104 | 100.0 992 | 86.0 | 919
=r| 28 |0 0 0] 20 | 19 | 950 | 1000 | 67.9 | 923
Rt (27| 63 | 0| 01 0] 5 | 50 | 1000 | 1000 | 79.4 | 844
| 91 o] o0 o 70| 69 | 986 1000 | 75.8 874
ERE i =7| 17 0] 0 o0 13 | 13 | 1000 | 100.0 | 76.5 | 800
Ertah (27| 20 | 1] 0 0| 26 | 26 | 1000 | 1000 | 8.7 | 88.5
| 46 [ 1] 0 o 3 | 30 |1000 1000 | 830 848
2 ERE 137 | 1] 0 o 109 | 108 | 99.1 | 100.0 | 78.3 | 866
o =F| 9 | 4] 0 0| 9 | 9 | 1000  100.0 | 97.0 | 944
xg;%y 7| 20 0] 0] 0] 19 | 19 | 1000 | 100.0 | 950 | 947
0 | 115 [ 4] 0 0| 115 | 115 | 100.0 | 100.0 | 96.6 94 4
s o |ZF| % [1[olof s [ 3 oo 00 os [i000
S [=F[ 16 oo 0| 15 | 15 [100.0 | 100.0 | 938 | 846
| 52 [ 1] 0 o0 5 | 5 |100.0 1000 | 943 @ 950
2 ERE 167 | 5] 0 0| 165 | 165 | 100.0 | 100.0 | 95.9 | 946
ey | g [ 2E] %5 [0 0 To[ w5 3 Too Tioo [0 To43
S %F7| 25 | 0| 0] 0] 2 | 25 | 1000 | 100.0 | 100.0 | 1000
s EREt 6 | 0] 0 0] 60 | 60 |100.0 | 1000 |100.0 @ 97.0
=7| 923 | 35| 1 | 0| 883 | 880 | 997 | 99.8 | 920 | 921
AT ZF| 409 | 9| 2 ] 0| 373 | 3713 | 1000 | 990 | 8.7 | 920
s | 1332 (44| 3 o | 1256 | 1253 | 99.8 | 99.5 | 91.3 | 92.1

XUBAEZERER=REER - UBAFEEH %100
KEXEICHT IMBRER=REER - (EXRBYR - KEREFEHR %100




